



B.B.A. DEGREE EXAMINATION — 
JANUARY, 2009.

First Year

Computer Applications

BUSINESS MATHEMATICS AND STATISTICS

Time : 3 hours
Maximum marks : 75

Answer for 5 marks question should not 
exceed 2 pages.

Answer for 15 marks questions should not 
exceed 5 pages.

PART A — (3 ( 5 = 15 marks)

Answer any THREE questions.

All questions carry equal marks.

1. Define Statistics and explain its characteristics.

¦ÒÎ¯À Áøµ¯Ö ©ØÖ® Auß C¯À¦PøÍ¨ £ØÔ ÂÍUSP.

2. If 
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3. Find the simple interest and the amount on 
Rs. 10,000 at 8% per annum for 5 years.

¹£õ´ 10,000 US Bsk JßÖUS 8% Ámi GßÖ PnUQmk I¢x Á¸h[PÐUS uÛÁmi ©ØÖ® ö©õzu® ¹£õ´ GÆÁÍÄ GßÖ PnUQkP.

4. Compute median from the following data :

	Mid values:
	115
	125
	135
	145
	155
	165
	175
	185
	195

	Frequency:
	6
	25
	48
	72
	116
	60
	38
	22
	3


¤ßÁ¸® Â£µ[PÎ¼¸¢x Cøh{ø»ø¯U PõsP.

	ø©¯ ©v¨¦:
	115
	125
	135
	145
	155
	165
	175
	185
	195

	Aø»öÁs:
	6
	25
	48
	72
	116
	60
	38
	22
	3


5. Calculate the cost of living index number from the following data.

	Group
	Index number
	Weight

	Food
	271
	52

	Fuel
	194
	7

	Clothing
	173
	10

	Rent
	164
	9

	Miscellaneous
	192
	22


¤ßÁ¸® Â£µ[PÎ¼¸¢x ÁõÌUøPa ö\»ÄU SÔ±möhsønU PõsP.

	öuõS¨¦
	SÔ±mk Gs
	{øÓ

	EnÄ
	271
	52

	G›ö£õ¸Ò
	194
	7

	Eøh
	173
	10

	ÁõhøP
	164
	9

	Cuµ CÚ[PÒ
	192
	22


PART B — (4 ( 15 = 60 marks)

Answer any FOUR questions.

All questions carry equal marks.

6. Distinguish between primary data and secondary data.

•uÀ {ø»uPÁÀ ©ØÖ® Cµshõ® {ø»uPÁ¾USªøh÷¯ EÒÍ ÷ÁÖ£õkPÒ ¯õøÁ?

7. A certain amount of money was invested at 8% simple interest and after 9 months an equal amount was invested at 10% simple interest. Find the period in which the amount in each case becomes Rs. 2,600. How much money was invested in each case?

J¸ SÔ¨¤mh öuõøP 8 \uÃu® uÛÁmi°À •u½k ö\´¯¨£mhx. 9 ©õu[PÐUS ¤ÓS, A÷u AÍÄzöuõøP 10% \uÃu® uÛÁmi°À •u½k ö\´¯¨£mhx. GzuøÚ BskPÎÀ JÆöÁõ¸ uhøÁ •u½k ö\´¯¨£mh öuõøP ¹. 2,600 BP BQÓx. JÆöÁõ¸ uhøÁ GÆÁÍÄ öuõøP •u½k ö\´¯¨£mhx?

8. Solve by Matrix method
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AoPÎß EuÂ¯õÀ wºÄ ö\´P.
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9. Calculate Spearman’s Rank Correlation coefficient: 

	Accountancy Rank:
	2
	1
	3
	4
	6
	5
	8
	7

	Statistics Rank:
	8
	7
	4
	3
	5
	6
	2
	1


ì¤¯º©Ûß Á›ø\ JmkÓøÁU PnUQkP.

	PnUQ¯À Á›ø\:
	2
	1
	3
	4
	6
	5
	8
	7

	¦ÒÎ°¯¼À Á›ø\:
	8
	7
	4
	3
	5
	6
	2
	1


10. What is meant by Time series? Explain the components of Time series.

Põ» öuõhº Gß£uß ö£õ¸Ò GßÚ? Auß TÖPøÍ ÂÁ›.

11. The following are the runs scored by Tendulkar and Dravid in various cricket matches. Find out who is more consistent.

	Tendulkar:
	101
	12
	0
	214
	53
	82
	126

	Dravid:
	84
	98
	102
	73
	77
	65
	99


£À÷ÁÖ Q›UöPm ÷£õmiPÎÀ, öhskÀPº ©ØÖ® iµõÂm Gkzu Kmh[PÒ £ØÔ¯ ÂÁµ[PÒ R÷Ç uµ¨£mkÒÍÚ. ¯õº {ø»z ußø© Eøh¯Áº Gß£øuU PõsP.

	öhskÀPº:
	101
	12
	0
	214
	53
	82
	126

	iµõÂm:
	84
	98
	102
	73
	77
	65
	99


12. Write short notes on :

(a)
Histogram

(b)
Correlation 

(c)
Skewness

(d)
Cost of living Index. 

]Ö SÔ¨¦ ÁøµP :

(A)
îì÷hõQµõ®

(B)
JmkÓÄ

(C)
÷PõmhU öPÊ

(D)
ÁõÌUøPz uµ SÔ±mk Gs.
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